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01 | using System;
02 | class Program {
03 static string Convert(int decimalNumber) {
04 if (decimalNumber _(I) 0) return _(II); /I (D), _(AD
05 string binaryNumber ="";
06 while (decimalNumber _(III) ) { // (111)
07 int remainder = decimalNumber _(IV); /I (IV)
08 binaryNumber = remainder + binaryNumber;
09 decimalNumber _ (V) 2; /1 (V)
10 }
11 return binaryNumber;
12 }
13 static void Main() {
14 string binaryNumber;
15 int 1=0;
16 int [ num= {21, -33, 56, 0,101};
17 while (1<5) {
18 binaryNumber = Convert(num[i]);
19 Console. Write($" {num[i]}: {binaryNumber}; ");
20 i++;
21 }
22 }
23 |}
(-) =+ Bz R_OQCA)
() =R BTR_AD 2 »)
(2) == BT R_ADEC )
() > ARNH/IH_AV) (2 #)
(I) 2B BIR_VNMQA»)

F2H HTH

1R (2 )(E&ER® 5)




LAHIEL P 1138 T 28 p At ALl (C)(HEEA™ )
AR 2 ’b&*% 2 F23 k3t

T~ T CHAES o (RAE2 A 0 K 104)

01 | using System;

02 | using System.Collections.Generic;

03 | class Program{

04 static List<int> F1(int n) {

05 List<int> X = new List<int>();

06 for (inti=1;1<n; it++)

07 if(1%2==0) X.Add(i);

08 return X;

09 }

10 static Dictionary<char, int> F2(string S) {

11 Dictionary<char, int> data = new Dictionary<char, int>();

12 foreach (char s in S)

13 if (data.ContainsKey(s)) data[s] = data[s] + 1;

14 else data[s] = 1;

15 return data;

16 }

17 static string F3(string s1, string s2, int m, int n) {

18 return s1.Substring(m, n - m) + s2.Substring(m, n - m);

19 }

20 static void Main() {

21 Console.WriteLine(F1(7)[1]); /1 (1)
22 Console.WriteLine (F1(10)[2]); // (1ID)
23 Console.WriteLine (F2("Hello kitty")['t']); /1 (1IT)
24 Console.WriteLine (F2("Metro Taipei")['e']); /1 (IV)
25 Console.WriteLine (F3("Taipei", "Good", 2, 4)); /1 (V)
26 }

27 |}
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01 | static int Op(int[,] data, int x, int y, int n) {

02 int sum = 0;

03 for (inti=x;1<x +n; i++) {

04 for (intj=y;j<y+mn; j++) {

05 sum __(I)  data[i,j]; /(D)
06 }

07 }

08 return sum / (__(II) ); //__(11)
09 |}

10 | static void Compress(int [,] source, int m, int n, int[,] target) {

11 mtsize= __ (III) _; /(I
12 for (int x = 0; x <size; x++) {

13 for (int y = 0; y <size; y++) {

14 target[x, y] = Op(source, X * n, y * n, n);

15 }

16 }

17 |}
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01 | using System;

02 | class Program {

03 static bool IsValidBinary(string binaryNumber) {

04 foreach (char ¢ in binaryNumber)

05 if(c!='0" _(I) c!="1") return false; /(D)
06 return true;

07 }

08 static int Convert(string bin) {

09 int dNumber = 0, order=1, length = bin.Length;

10 if (IsValidBinary(bin)==false) return _(II) ; /I _(II)
11 for (int 1 = 0; 1 < length; i++) {

12 if (bin[length _(III) | == _(IV)) /(D) , _(IV)
13 dNumber += order;

14 order *= (V) 1/ (V) _
15 }

16 return dNumber;

17 }

18 static void Main() {
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19 int Number;

20 string [] bins= {"0101", "1101", "56", "-1","10100"};
21 for (int i=0; i<5; i++)

22 Console. Write($" {bins[i]}: {Convert(bins[i])}; ");
23 |

24 |}
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01 | using System;

02 | using System.Collections.Generic;

03 | using System.Linq;

04 | class Program{

05 static List<List<object>> F1(int s) {

06 List<List<object>> scores = new List<List<object>> {

07 new List<object> { "John", 90, 80 },

08 new List<object> { "Bob", 50, 70 },

09 new Llst<0bilect> { "Mary" 80 70}

10 var data = scores. Where(x => (int)x[1] + (1nt)x[2] <s).ToList();

11 return data;

12 }

13 static List<int> F2(List<int> A, List<int> B) {

14 \ return A.Zip(B, (x, y) => (int)Math.Pow(x, y)).ToList();

15

16 static List<string> F3(string data, int n) {

17 if (n == data.Length) return new List<string> { data };

18 if (n == 0) return new List<string> { "" };

19 List<string> s0 = F3(data.Substring(1), n)

20 List<string> s1 = F3(data.Substring(1), n - 1).Select(s => data[0]

21 + s).ToList();

22 s0.AddRange(s1);

23 s0.Sort();

24 return s0;

25 }

26 static void Main()

27 foreach (var item in F1(150))

28 Console. Write($" {item[0]}, "); /1 (1)
29 foreach (var item in F1(160))

30 Console. Write($" {item[0]}, "); // (IT)
31 var f2Result = F2(new List<int> { 2, 4, 6 }, new List<int> { 3,2, 1 });
32 Console.WriteLine(string.Join(", " f2Resu1t)); /1 (1IT)
33 Console.WriteLine(F3("bac", 2)[2]), // (IV)
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Console.WriteLine(F3("def", 2)[1]); /1 (V)
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